
±0.4

120-315

0.5-6

6-30

30-80

80-120

±0.1

±0.2

±0.3

±0.5

±0.8315-1000

ANGULAR TOLERANCE:±1°

UNSPECIFIED DIMENSIONAL 
TOLERANCE

16

3

618 21 9

20

19

1 7 10

11

12

8

14

22

5

15

4

2

17

SPECIFICATIONS:
1.Dimensions:1000*800*770 mm (L*W*H)
2.Weight:186kg

BOM

No. Part Name Part No./Specs Qty Rem.

1 Rotary Actuators eRob70H100T 1

2 70T-Mount Base ZCT0039-90-042-0 1

3 142T-Test Baseplate ZCT0039-90-029-0 1

4 Test Base ZCT0039-90-001-0 1

5  Load Plate110/142 ZCT0039-90-004-0 1

6 70T-Load Flange ZCT0039-90-202-0 1

7 90T-Connecting Rod ZCT0039-90-036-0 1

8 90T-Quick Release Rod ZCT0039-90-037-0 1

9 70Clamping Block ZCT0039-90-145-0 1

10 2KG Load Disc ZCT0019-70-152-0 1

11 1KG Load Disc ZCT0019-70-153-0 1

12 Retaining Clip 25mm 1

13 Wave Spring 27*34 1

14 End Cap Spacer ZCT0019-70-186-0 1

15 Hex Socket Head Cap Screw  ISO 4762 M12X30,Grade 12.9,Black Oxide 8

16 Hex Socket Head Cap Screw ISO 4762 M8X25,Grade 12.9,Black Oxide 8

17 Hex Socket Head Cap Screw ISO 4762 M3X10,Grade 12.9,Black Oxide 11

18 Hex Socket Head Cap Screw ISO 4762 M3X8,Grade 12.9,Black Oxide 11

19 Hex Socket Head Cap Screw ISO 4762 M5X35,Grade 12.9,Black Oxide 2

20 Plain Washer ISO 7089 M5*10*1 Grade C 2

21 Hex Socket Head Cap Screw ISO 4762 M3X30,Grade 12.9,Black Oxide 2

22 Hex Socket Head Cap Screw ISO 4762 M6X16,Grade 12.9,Black Oxide 5

23 Hex Socket Head Cap Screw ISO 4762 M8X20,Grade 12.9,Black Oxide 8

DATE

2025/4/3

1:5

DRAWG NO.

SIZE

MODEL

NAME

APPROV

CHECK

MATERIALQTY. SCALE

A3

VERSION

0

ZCT0010-70-001-0

PERSPECTIVE

SURFACE
TREATMENT

THIRD ANGLE

DESIGN MATERIAL CODE

eRob70H100T Load Test Device


	001
	工程图视图3


